Y3 - Autumn - Block 1 - Step 3 - 100s, 10s and 1s (1) Answers

Question Answer

a) 345
b) 518
c) 203
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a) 469
b) 337
c) 950
d) 803

a) 348 is equal to 3 hundreds, 4 tens and 8 ones.

b) 673 is equal to 6 hundreds, 7 tens and 3 ones.

c) 792is equal to 7 hundreds, 9 tens and 2 ones.
4 d) 308 is equal to 3 hundreds and 8 ones.

e) 751is equal to 7 hundreds, 5 tens and 1 one.

f) 802 is equal to 8 hundreds and 2 ones.

a) 432=400+30+2
435=400+ 30+ 5
437 =400+ 30 +7

b) 520 =500 + 20

5 502 =500 + 2
c) 392=300+90+2

392 =92 + 300

392 =2+ 390

30 - 3tens
300 - 3 hundreds
3 - 3 ones
300 - 3 hundreds
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a) 194 or 491
7 b) 304,340,403 or 430

462 or 604




